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NAME \/{%/ | : DATE _ . SCORE ________

PraCtice. 56 o Lessons 14-1 through 143 | (
Supplementaty Practice | : |

In Exerclscs 1-3 f x—3x + 8. ‘
1. Find the image of =3, __7_

2. Find the preimage of 2. T~
, 3; Is f a one-to-one function? %L
In the figure, OI:; is inscribed in square 4BCD. - : : Ar B8
% Describe a way of mappmg each point of ©P to a point of 4BCD : / \ ’
so that the mappipg is one-to-one. '9)( AL O* )( 17%) G)P _
(V\Q() )('*0)( 64 AECD 0’ : D'K/c ,
)52 Is the mapping an isometry? __'L_ - o : Bxs. 4, 5
For the mapping T:(x,y) — xl'+ 3,y — 1) find the followmg o '
6. The image of (2, 1) _ﬁL 7. The image of (4 -2) _Q_;)_
8. The preimage of (0 0) ( ’?D J ) . 9, The preimage of (5,-3) /_,_J_L

10. Does Tappéar to be an 1sometry‘? %&ﬁ__ | : . - @ .

Ih the figure, line p is the perpendlcular bisector of both 4B and DC ‘ ut?
Complete. — : . A ' 8
11. RPAB—> /%59 ' 12. R, -AM — iM :

13 Ry BC -3 wr AN g

_ _ ol .

- -Draw the image of each figure by the transformatlon specified.

‘ 15 Reflectioninlinek S _ 16, Glide 2 units to the rlght followed by
reflection in the y—ams
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Practice

1) Consider this example of a translation that maps
A(-1,4) into A’(3,2). Find the translation rule.

/r=<>(f%>'=> QHL( 1% '9

2) Consider this example of a translation that maps
A(-2,5) into A’(-2,2). Find the translation rule.

T (x) = (%, 472

3) Given A(2, 1), B3, 3), and C(-1, 3).
Find the image of Triangle ABC under the translation
*y) > (x-2,y-5)

Al(@ 'Lf)
@I(‘/ ";9 |
C\(“’51 'D‘)

4) Given A(l, 2), B(3, 3), and C(3, -1).
Find the image of Triangle ABC under the translation
xy)>&-2,y-3)

b (-1,73)
B, -2)
1, -b)

5) Find the image of the figures under the translation
xy)>&+3,y-1)

thh ,m

= N W I

(a2
L 2]
=
s

L=}
U

L

23 4 5 ¢

G & S

6) Find the image of the figures under the translation
x,y) 2 x+2,y+5)
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Reflections over a horizontal or vertical line

To reflect over a horizontal or vertical line, first determine the perpendicular distance of your
glven point to the reflecting line. Then place your image point the same distance away on the

.other side of the line.

For example, reflect the point (3,4) over the line y=1.
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Now try (2,3) over x=-2.
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Reflections over y = X

Reflect PQ over the line y = x.

Reflect PQ overy = -X.
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Examples

P'(7 -2)

O\(gl'td)

Graph AB using the points A{-4, 1) and B(4,7) and graph the image after a reflection in the y-axis.

A(HD B(% 7)
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Find the slope of 4B Ll
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Find the slope of A'B' = Y

How are these slopes related?
p o??l

Write the equation of the line that contains AB and A’and B. What do

you notice about the y-intercepts? Would this also happen if the

-reftection had been in the x-axis
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Reflections on the Coordinate Plane:

Points reflected over the linesy = x andy = - x are related to their preimages in a special way. Using

coordinates makes these relationships especially clegr.

On the following diagrams:
a. Label the coordinates of the vertices for each figure

b. Sketch the reflections of each figure over the indicated linesy = x andy = - x.
¢. Label the coordinates of the vertices of the image figures.
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